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PAPER -1
Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks
1.  Which of the following set of statements best represents the nature and objective of teaching

and learning ? i
a) Teaching is like selling and learning is like buying. -.r‘; )

b) Teaching is a social act while learning is a personal act. { r

(

(

(c) Teaching implies learning whereas learning does not imply teaching.

(d) Teaching is a kind of delivery of knowledge while learning is lJike rece}ving it.
(

e) Teaching is an interaction and is triadic in nature whereas learning is an active

engagement in a subject domain. »
Code : f./'ﬂ’ I
(1) (@) (d)and () (%@%W@
(3) (@), (b)and (¢) @) (@ (@ E;?'d (d)

2. From the list given below identify théllearner charactefistics which would facilitate teaching-
learning system to become effec:g've.{ Choose the correct code to indicate your answer.

(a)  Prior experience of learner < (b) Learner’s family lineage

(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food.habits and hobbies (f)  Learner’s religious affiliation
Code : { J{

1) (@) ©and @ (2) () (e) and (H

(3) - (a), () and (o) (4) () () and (9

a
3. = Assertion (A) fAllr teaching implies learning.
Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :

(1)|k Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) ¥ Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

oo [ IRRRHMAURNIACARI
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e U U H Ue (50) g fashedid U9 €1 U U % 9 (2) 3 €1 |l we e €
50 W9 x 2 3k = 100 Ak

1. frafafed woel & ag=a § @ FE-T1 freor R s & yafa 1@ 3299 o1 gaias §9 5 9&qa
AT T ?

(a) Toreqor fosra & TAM § TR ST TORRT & S § ) y
(b) Toreror grafSrr e ® wafen siferma safad Fed R . "(H'
(c) Torero & erferm fafeq & Stafer stferma foreror =1 wifed &t wvean |
(
(

d) T T YRR I I 1 SO § Sl AT 36 U i ST |
e) Torero sk sra:foren © &R yshfa ® Fudt € Safw sifygrmm Wﬂ\?ﬁr&r{% ST=id Hfehd &1 B

= A\
1) @ (@ 3R @) fb), @ ¥R fe)
3) (@), (b) 3R () @wwqﬁ@

2. @ E g @ forenefl 3 w7 atferemil ) fefed X SRl ST wone ) e s
e B mwaﬁéﬁmwﬁsﬁ%m@aﬂw{ﬁ|

@ FEdwgdemm N @) e # et @ ww
(c) Tommeff =1 stfyrerean __‘ A (d) forneff = forepra 1 sreren
(e) foemeff & @M =t agd SR Wew () ot =t enfifer w=ga

M | :
(). @) @=F @© @ ) © =@

5. | stfume (A) - F{%ﬂ"'ﬁT&TUTﬁ it fofed gran 2
T (R) : ST ) STERT B % foT S8 sTeRees w9 § e ¥ o e anen |
ﬁﬁﬁ@ﬁﬁ@ﬁﬁwwwaﬁ:
(1) (A) 3R (R) <1 Tt € 3R (R), (A) 1 T&l ST T |
(2) ¥ (A) 3T (R) I & T, AHT (R), (A) T T TEHT0 A ¢
3) (A) =& &, afFa (R) To 2
(4) (A) @ T, AR (R) FE B
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On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :

(1) Formative testing (2) Continuous and comprehensive evaluation

(3) Norm - referenced testing (4) Criterion - referenced testing

Which one of the following is a key behaviour in effective teaching ?

(1) Using student ideas and contribution

Ty

(2) Structuring r;
(38) Instructional variety / 2
(4) Questioning

Which of the following research types focuses on ameliorating the prevailing situations ?

(1) Fundamental Research (2) ;aplied Iiesearch E
X

(3) Action Research 4) perimental Research

A researcher attempts to evaluate the effect of met t ?{?f feeding on anxiety - proneness of
r

children. Which method of research would be app te for this ?
(1) Case study method (2) Experimental method
(3)  Ex-post-facto method . “(4) Survey (nethod

-

. )
In which of the following ar_r_akéements a wider spectrum of ideas and issues may be made
possible ?

(1) Research Article (2) Workshop mode

(3) Conference | J{ (4) Symposium

In finalizing a thesis writing format which of the following would form part of supplementary
pages ?

' Al |
' (1) Listof tablef and figures (2) Table of contents

(3) Conclusions of the study (4) Bibliography and Appendices

Which of the following is susceptible to the issue of research ethics ?

(151 Inaccurate application of statistical techniques

(2) ¥ Faulty research design
(3) Choice of sampling techniques
(4) Reporting of research findings

=



4. HhoIcHS TN o STHR T Tk foeeh 319 foenfef=i o feared sqaer ol 399 Afyyerea gited
St At o HeH T ARSI a1 § 1 9 HaT S

(1) T Tde (2) Hdd Ts SAYF oIk
(3) WMk Gefd adiamn 4) Trew Hefia wham

5. frafafaa & @ on gt femon § yge =eer § 2
(1) fornefl & fo=mi wa stecE 1 S

(2) " /s
(3) STIeTHHe fafaea {
(4) g g
6. Trefafed 3§ & vy ¥ frg wer § dioer el § 9o W AW Hhed Fea S S 2
(1) e e @) a,ﬁzasﬁa" |
(3) frare® Wy (4) Jsrrq‘rﬁmsﬁq

7. Uk Wkl sl ol T - dﬂ@dlﬂﬁﬂﬁfﬂ%gkﬁrmmﬁaﬂmm%l
ot wry-fafy g9 fag suga gt ?

(1) =afe sorm vah L 0) et
(3) wERR ggfd | 4 K 4) wdem wgfa
| Y
8. Frfafed § & frg orowen & foar oik T3 %t o 39 (Seew) 1 H9a SR ST 9t 2
1) Mg g T g (2) e Ugid
(3) T % 4) wiE
9. T ¥y Y&y G wre w1 sifan w9 < H frefafed § @ SH-91 eh-gel w1 e 99 ?
/(1) SRE stetRs g 2) fowrg-wrei
(3) st & fywd (4) Teo-gEh el aRfire

10. ﬁﬂﬁrﬁaﬁﬁﬁﬁﬂ—w@aﬁﬁwwa@@w%?
(1) WIS qehlehi 1 SIS STTHAM
(2)‘\-'9?[%1@5@@1@@@@?1
(3) T qwAE o famed
(4) iy fsRul sl RO e
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Read the passage carefully and answer question numbers from 11 to 15.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on‘natural
resources; it also has social, economic and political dimensions which influence how clirhate change
affects different groups. Poor people rarely have insurance to cover loss of property due tq‘ﬁatural
calamities i.e. drought, floods, super cyclones etc. The poor communities are alfeady struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adaf)ting to climate change entails taking
the right measures to reduce the negative effects of Clif;{ate Ché"nge (or exploit the positive ones) by
making the appropriate adjustments and Changes.,"(i“hese.l'amgleI from technological options such
as increased sea defences or flood - proof houses ¢n stilts to behavioural change at the individual
level, such as reducing water use in times of drought. i)?éer strategies include early warning
systems for extreme events, better water management, inprovgd risk management, various
insurance options and biodiversity conserq@tion. Because of the speed at which climate change is
happening due to global temperature rise,.tt is urgent that the vulnerability of developing countries
to climate change is reduced and their €apacity to adapt is increased and national adaptation
plans are implemented. Adapting_ to dimate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their liveiihoo‘ds to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptatign interventions depends on national circumstances. There is a large body of
knowledge and experienee within local communities on coping with climatic variability and extreme
wedther events. Local @ommunities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recovet from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
commur;i’glies to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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A-000 ’



TEITYT ehl &9 | U 3T U9 W&Ar 11 W 15 hT SAT e |

STerag, aRed 1 TR TRt w1 Haifess TR Saa W S €1 SEeRT TAieRT, e TR,
T e, oA nifafafy, Trenfae derer $ IR ¥ifde sasEr W Ufied yuE 9ed ¢ | dfveas sieery
e Y IRaEfad gl Wl ¢ | Sorary qRerdd et A sl Fad ohid arel Sehrl Iet (3TE. 9.5, )
% STHR ey IRed= & Gal bl uget 2 Uferd fomen S e © IR Safes fehd o1g g € o washan
SR SISl hRE el ST STiaeerh § 1 Siererg aied o i e ks ot & 78 e st
s spfers wener R @ FR T & Sfen sy wRed & e, el ol Terfon o of €
SN =9 o ) e w0 € Fof R WehR & Sterar) ufitad fafe woel o gt wta €1 e e
¥ UIY YTk Saerat S g, 96, HerEkhad e o HRUl FEf ) ereel & w1 i F0 % fere
WS & o g g | e Tee o et SR Serary Seed it faeme ghifadl | Ted @ 53 W@ T SR
ST IfEd 3 HROT S o e 3Ed S o 7Rl 7 foF T s ae Afvena @ Sem | A
Ut ¥ foh Uehfd o Serd STl o WY WHSA 99 H 3 WHar! S FerEdl Sl ST 91feu | ST dhe
o WA & Fo e & o A s % gt fagr o 91 e ¢ wam a
1 STerelTg IRER % WY ST  ded wgfed WHE S uREpe F % Her | Sy uRed %
TRRIEE THE Rl HH H (awummuﬁwmﬁawﬁh%mﬂémmaﬁ% A Ul
qﬁaﬁﬁﬁrﬂaﬁwawa@rgﬁmﬁg;wawﬁﬁaﬁmm—ﬁaﬂm@wmwmw
wftd S ¥ w8 e e i =1 TR § < T fo qd e
UTTeAT, Sga STl Y&, 3old Wwa;ﬁg;ﬂﬁaﬁmﬁw 3#(@3—%%{%1 T wimfea €1 Sfvees
= %%Wﬁmwﬁr@w? B @1 § T STAEIF B Sl ¢ foh Sty ufead= & ufd
Wéﬁﬁaﬁﬁwaﬁmﬁm.m;aﬁiﬁaﬁwwaﬁmmammwﬁ
FHEifad i S | Serarg, uRad & 9fd STeer T ¥ UL IR IRisg gt Tl w g 31k
Rl 1 i e 1 S iR ufr % e % w1 aree faer i weeEi % et waif
U T T STE T SR S sTrsiiferset 3 fafasiento % woa-wg gufea Srenfifesd s som
Tfgd 3T9-T = q-jl—ﬂ'ﬂfﬂl WHRT IR T el & 91 derdd foaei gy s foem ot
o T S S o e e ST | SR e wed T e ¢ it e
ST et e SR S Teel % y wse faer & gy § T aerEl % 19 9ed I
3R oTgvE § 1 T [ T SHIM W IeTF 3T Serarg IRadHl o T derie foem W1 | &
% fere 3= forma & HiEt Tt & o799 STYE % SMUR R 9+ T 3ik Giad I & T8y Taniar
1 E | T 3 T off Wil @ § 5 S e, g SR e S =ew e seneli @ it e ain
STH SOl U1 ¥ | e foeM i T WHifaEr srser & e § eyl a W g Seey
R 1 oo § TS 1 -9 =R Setery, fearfrl qen 7€ sereny feaferl sl wwm el &1 g
ECIREERE] ¥ TR I Y Sl ohl 1 Sf¥eeh 9 ot oIS Setany, IRad= o IHIE i Teqd
FR T €, STy I & 91 e foem aun $ve, agfud iR guafag Sue ged | wemer faentt )

wooo [{INTNNINRHINDAE -




11.

12.

13.

14.
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Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a
(b

) Their dependence on natural resources
)  Geographical attributes
() Lack of financial resources

(d) Lack of traditional knowledge

Code : p
(1) (@) (b) and (o (2) (), (©) and () : g 9
(3) (@ () (c) and (d) (4) (c)only .

Adaptation as a process enables societies to cope with & { .’;

(a) An uncertain future l,,/ # |

(b) Adjustments and changes I.r"'f . I.'

(c) Negative impact of climate change f \ ."Il

(d) Positive impact of climate change {é

Select the most appropriate answer f{om the followinﬁ code f
%
(1) (@), (b), (c) and (d) qf P @adfo

(3)  (b) (c) and (d) i @ ©ony

To address the challenge of climate change, developing countries urgently require :
1) Imposition of cl(imatq change tax
) Implementation of national adaptation policy at their level
3) Adopﬁ;n*of short-term plans
4) Adoption gf teéhnological solutions

Thertraditional ITnowledge should be used through :
(1% Its dissemination

(2) "y Improvement in national circumstances

(3) - Synergy between government and local interventions
(4)

Modern technology

@
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15. The main focus of the passage is on :
(1) Combining traditional knowledge with appropriate technology
(2) Co-ordination between regional and national efforts
(3) Adaptation to climate change
(4)

4)  Social dimensions of climate change

Ty

16. The interaction between a teacher and students creates a zone of proximal :

(1) Difference (2) Confusion r { |
(3) Development (4) Distortion .
17.  The spatial audio reproduction in a classroom can reduce the Slfudé;‘qlts’ £
(1) Cognitive load in understanding j/ ' »
(2) Respect for the teacher Ilr-"r I'I
¥ | I
(3) Motivation for excellence f _.-"
(4) Interest in technology - orientation \ {’;
18. The classroom communication shoula éssentially be :r
(1) Contrived (2) Ein%aﬂ_{:etic (3) Abstract (4) Non-descriptive
A

19. A good communicator begins his/her presentation with a :

(1) Complex questif)n 5 (2) Non-sequitur
(3) Repetitivelphrase { (4) Ice-breaker
‘4
20. Ina classroom, the probability of message reception can be enhanced by :
( (1) Establishing a \}iewpoint

(2) Exposing the ignorance of students

(3)" Increasing.lthe information load

(4)! Using high decibel audio tools

v

21. In the Beries 1, 6,15, 28,45, ... the next term will be :

(1) o6 (2) 76 (3) 56 (4) 84
oo [[INTANNOO N+ =



15. 39 TS 1 Hehfeh fag ® -
(1) URURE I 1 T SRt & e S
(2) & SR U T & Se 9
(3) Soreng ufterdd % gfd STk
(4) SraTg 9RE o AT ST

16. Torerer iR famnfefdi & sfie 9o Hare THowy SIEECIREE I iC TG A ! /
(1) #® 2 ¥H {
(3) fohrd (4) fapfa

17. ﬁlo‘{:ﬁwﬁwﬁfm"awgﬁzmﬁrsﬁrwﬁﬁaﬁﬁaﬂﬁﬁ%#@#ﬁﬁ;wwm%/m%?

(1) <" H AR 9 A o

(2) et % iy o _f '

(3) Swptdl & Ufd Iom r \ )

(4) renfirRt - stfuferme 7 = ./

4 ("

18. mwﬁaﬁmaﬁaﬁmﬁ@mmﬁq:i !

(1) e (2) T (3) oTd @) Tr-faeromms
19. U 39 FHYSH ST Tciehol frfafad 8 9 fhad ¥& wta €2

1) wfemwa | J{ 2)

(3) YHEdl deeY (4) YA

‘4

20. / fordt en & & [ T ST =l Frfafed § 9 forad aern S gl 2

(1) gt wenfrd w3

(2) To=nfe =} SAfvFAl SSIPR ek

3) F= 4R H gfg FF
(4), 3 SRS % T TR T T FH

’ r
21. #@an 1, 6,15, 28, 45, .......... B STl & Bl
66 2) 76 3) 56 (4) 84

1) 2)
wooo [[NNNNNNNARIAN. =



22.

23.

24.

25.

26.

27.
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The next term in the series ABD, DGK, HMS, MTHB, .......... is :
(1) NSA (2) SBL (3) PSK (4) RUH

In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :

(1) MFUIQRTW (2) QMUBIADH _
(3) QFMFUOBI (4) EPHNTEAS {
&

Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh Who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Grandfather (2) Father-in-law - F F
(3) Father (4) Uncles ™ | |
/_/ #
f i
A postman walked 20 m straight from his joffice, turned right and walked 10 m. After

turning left he walked 10 m and after turning right alk_éd 20 m. He again turned right and
walked 70 m. How far he is from his office|?

(1) 50 m. 2) 40 m. 3) 6(%1}.L (4) 20 m.
. f

e

It is Truism to say that no one ﬂ;asihere when life first appeared on earth. Any assertion
about life’s origin, thus, shoul'gl E)e freated as a theory.

The above two statements constitute :
(1) A historical explanation (2) A narrative

(3) An argument { ( (4) A conjecture

Given below aréifour statements. Among them two are related in such a way that they can both

Statements :

 be true but they f.?rmpt both be false. Select the code that indicates those two statements :

(a) Honest people never suffer.

(b)" Almost alllhonest people do suffer.

(C).l' Honest people hardly suffer.

(d) 1:" Each and every honest person suffers.

Code

(1) @and() (2 @and(© (3 @and(d) (@) (5 and ()

p—
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22.

23.

24.

25.

26.

27.

(1)
oo

sfgell ABD, DGK, HMS, MTSB, ......... T SFTeT UT ¥
(1) NSA (2) SBL (3) PSK (4) RUH

et e H “COVALENT” &l % BWPDUOFM T 1 “ELEPHANT” %1 %< 21 :
(1) MFUIQRTW (2) QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS

i
TR, THYT 1 O §1 TF IS STEH Y S N A gU ST A T WYST T g £ 2
TR HEl ' IHHT A2, WA H A= g1 g Al 3R TR o o Frfafea fear g

(1) UEHIST (=e) (2) WR--4l (YY)
(3) e (fuar ) (4) e (=T '*

o SR ST e & T 20 e T, ST/ S HeR 10 HeX 9o s ok ged ¥
aﬁagmqﬁaawaﬂwr%ﬂ‘rafﬂgsﬁ%aﬁzo’ﬁaw|,-'agfwﬁm%ﬁafr{ggraﬂworﬁa
T | I 7Y e I forat g WR? ’

(1) 50 HreX (2) 40 HX 3) Qoﬁ.aéﬁa J (4) 20 HX

IE el Teh M 9cF © fo <fet geatt tﬂﬁfumeﬁmmfa{ﬂagaﬂwaﬁﬁéﬂﬁ | TG YHR,
ST o Squd & weie H ferdll oft Hfyeher o fegia w1 ST e

Syder S she ffifd e %.;h .
(1) T Uderfas gl (2) TH AH

(3) THThH {} (4) TH FEHA

F =R o T ¥ ITH ¥ 3T H 30 e W atyd ¥ foh 3 I 9 B Wehd © WReg o Tl

I T Wk | BH FE h1 T ST ST Rl 1 ST A €
| e

(a) EAMCR =AfH FHft e T Jer < |

(b) " T Hﬁé*—uwu feRT e T ¢ |

(©) THMER HAfeRt WIS & Fe Ferd © |

(d) ¥ e SRR ST e Serdl €|

Fe: |

(a) ¥R (b) 2 (@) ¥R (o) (3) (a) ¥R (d) (4) (b) ¥R (0)

I~ -




28. A deductive argument is invalid if :
(1) Its premises and conclusion are all true.
(2) Its premises and conclusion are all false.

(3) Its premises are all false but its conclusion is true.

Ty

(4) Its premises are all true but its conclusion is false.
4

{
Ip' [
29. Given below are two premises (a and b). From those two premises four conclusions (i), (ii),

(iii) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly). 2 - '

Premises : (a) All bats are mammals. l,,/ . #

/ [
(b) No birds are bats. /' \ f

| |
[} |

Conclusions : (i) No birds are mammals. \ {?

(i) Some birds g not mammals. 7 * ‘
« (
(iii) No bats ate E{rds.
g

(iv) All mammals are bats.

Code : .
{ -

(1) (i) only | (2) (i) and (ii) only
(3) + (iii) only 4 (4) (iii) and (iv) only

4 "
F f |
[, 1

30. Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not
increase oceanic| volume.

W]i}at type of argument is it ?
v
(1) = Analogical (2) Hypothetical
(3)  Psychological (4) Statistical
woo [ {INTANNON A+



28.

29.

30.

(
3

T AT aeh s § 9fe
(1) 39 SMER 1R iR Fremed |eft ot & |
SHh YR I TR Ty gt et &

(2)
(3) TTHh Gt SMHR AT TTeTd B W] SHhT F5hY Tl 2 |
(4)

4) THE Wl YR AR Wel B W] 3R =Y TTerd B |

L
¢ o
1 < SR 1R (a 3R b) AU TT R | 37 1 e arerdi & 9w sk (i), (i), (i) 3R (iv) et T
%|W@wwaﬁsh9mﬁmwﬁﬁwﬁm(wwmaﬁaﬁawwmﬁéﬁgq)
el / freehif ot gerfar & E.

-

IMUR AR :  (a) Tl THCS TTdrRR éﬁj}%‘?{
(b) HIS ﬂﬁqﬁmﬁ-%ﬂ%r _
() g Ul TR e BT B \J/ :
(i) Fo vl T A E o
- manﬁ‘sg%mﬁram%l |

(iv) T TR =HTES B ©

He ¢ .
®I (i) | { (2) e (i) W (i)

FHaet (111) (4)  FaA (iii) 3R (iv)

S firema ® ok & freerd Well 9 frema &1 o S a9 T aear 36 yehR freern gu s
fere’e § Wz ] S T e €|

5 frfafead 5 ¥ g TR &1 o &2

1)
)

(1)~ QeI eTh (2) UNERTHATHSR
3)  EAIR (4) wifersEa

(
woo [[INNNRRNDNN =



Answer the questions 31 to 35 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
Year | vehicles wheelers Taxis (E:EEZ) vehicles ((E;};;r:; (India)
(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 A39:23
1971 18.65 5.76 6.82 0.94 3.43 1.70 I- 54§,15
¥
1981 53.91 26.18 11.60 1.62 5.54 8.?7 683.32
1991 213.74 142.00 29.54 3.31 13.56 28.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 . 1028.73
2011 1417.58 1018.65 191.23 16.04 [« 70.64 J||'121.02 1210.19
31. The maximum decadal growth in population /ngIndia i; registered in the period :
(1) 1961 - 1971 (2) 1991 - 2001 f ; (3) 2001_:'; 2011 (4) 1981 - 1991
32. In which year the decadal growth (%) in number of ‘carSJ surpassed that of the two
wheelers ? A {
(1) 1991 (2) 2004 qf (3) 1981 (4) 2011
Vi
33. What was the average decaél-al growth in the number of cars during 1961 - 2011 ?
(1) ~131% hi' (2). ~ 68% @) ~217% 4) ~157%
L
34. Intheyear 2091,lout of total number of vehicles, the number of passenger vehicles (4 wheelers)

accounted for #

(1) ~14% f \ @

~ 24% (3) ~31% (4) ~43%

35. What was the per capita ownership of two wheelers in India in the year 2011 ?
|
(1)\ ~ 0.084% (2) ~ 0.0084% (3) ~ 0.84% 4) ~ 0.068%
36. What is the name for a webpage address ?
(1) Domain (2) Directory (3)  Protocol (4) URL
oo [INTANNOO A+ =



Trfeafiaa arferent ¥ fou U etfemsl & MR W 9 31 § 35 _T ST S |

AT : WA  USHehd aTel sht WEAT 3 U it THET

- o aA| UG ART | *R, S, g4 | A@ ORI | AT | 9Rd $ SHEe
(@) () I (qm@) | (FmE) | (a) | (TRE) (faferam)
1961 | 6.65 0.88 3.1 0.57 1.68 0.42 439.23
E
1971 | 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 | 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 1356 | 25.33. 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 . 57.95 | ' _1028.73
2011 |1417.58| 1018.65 191.23 16.04 | 70.64 | 121,02 1210.19
r
31. frfafed § @ fa oe & RA Wﬁm@%wﬁw%aﬁaﬁn@
(1) 1961 - 1971 (2) 1991 - 2001 [ (3) '2001_;"- 2011 (4) 1981 - 1991
32. g od & wRI = den | g8 <uhig 9fg (%), SUfeT aTe-l i gl o g2 Uk gig (%) T TR
g ? A { (
(1) 1991 2) 2009 f (3) 1981 @) 2011
Vi
33. o9 1961 - 2011 % SR &R FI F& H ad wnig gig fra @ 2
1) ~131% {27 '~ 68% (3) ~217% 4) ~157%
w 1
34. 3 2001 H, Il i ol G@A | G A Al (Frafed areAl) i HeA H giaw a9 o ?
S ~14% ﬂf Q) ~24% 3) ~31% (4) ~43%
35. o 2011 H W § gufen ol 1 gfq aferd e feorem o ?
(1) ~ 0.084% | (2) ~ 0.0084% 3) ~ 0.84% (4) ~ 0.068%
a
36. AT-YRB.UA (TSH) & ford s g 2
1) <SrA (2) eEREd (3) Ui (4) I IAXTQ.
oo [ EEFRILAAEA A v P10
A A



37.

38.

39.

40.

41.

42.

oo [ IRRRHMAURNIACARI

The data storage hierarchy consists of :

(1) Bytes, bits, fields, records, files and databases
(2) Bits, bytes, fields, records, files and databases
(8)  Bits, bytes, records, fields, files and databases
(4) Bits, bytes, fields, files, records and databases

{
Which of the following domains is used for - profit businesses ? " " o
(1) .org (2) .net (3) .edu 4) ' com f

What is the full form of USB as used in computer related activities ?

. N L |i
(1)  Ultra Security Block (2) [}p&izersal _Security Block
(3)  Universal Serial Bus 4) Il,ﬂUnited Seriltlﬂ Bus

| I
f I
f i

Which of the following represents billion characters\?'*f}J

(1) Terabytes (2) Megaby'teﬁ ”

(3) Kilobytes 4 ﬂ; . (4) Gigabytes
Y4
Which of the following polh.l_tants is the major cause of respiratory diseases ?
(1) Suspended fine particles (2) Nitrogen oxides
(3) Carbon monoxii'de { (4) Volatile organic compounds
"4

Assertion (A) : Inurban areas, smog episodes occur frequently in winters.

Reason (R) : n winters, a lot of biomass is burnt by people for heating purposes or to
eep themselves warm.

Choose the correct answer from the code given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)Ik J Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) : (A) is true and (R) is false
(

4) Both (A) and (R) are false

p—
Qe
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38.

39.

40.

41.

42.

oo [ IREFHMUAIRRINCARI

Tl HerU & A § i ©
(1) sy, faeh, wieew, Reed, wEd a1 SREyS

2) foew, sy, wieey, Rerey, wEd o1 SREES
3) fozH, wr3ew, Ry, wiegd, wiEd 791 SEEEs
(4)

foreq, d1Eed, HiceH, HEd, RHEH qo1 SReyS

o o o s N~ fal ’
frefafed Sl § fhd STt SR ¥q T fohan S € 2 {

(1) 30 emSh @ WiAE @) Iz @l HawmEm

FEX Y e fod S § FAN 3 9, TH S, 1 G0 9 F S ? '
1) e faefet sarm ) @aﬁa ﬁﬂ?@ﬁﬁﬁ%ﬁ
(3) Fadd HifTa a9 (4) [AmEes Eitecier

Frefafed § 9§ - T ora (fafer) e ‘J?a“;h‘m%?
(1) e o2 g

(3) forcirameza Ny ) R
frefafeaa # 4 aF- W‘S:R:l’;—a%rﬁ Sl SAfE 1 TqE R 2
(1) focifad gem wu (2) FTEEISH RS

(3) T ArsTRTRe J{ (4) SRS FEHR AR

If R e (A)*:.dll A & H, S % fol § SToRR -l ot FeAd "fed 2l € |

{7 (R): $r'5 i A i T 3 TR @ o T e 9w A

St (SrEEE) F W
1, fau T e | ¥ TR S| 1 99 HIST
(1) (A)sﬁuR)'aﬁﬂé%aﬂuR),(A)ﬁﬂﬁw%l
)4 (A) 3R (R) I T ¥ T (R), (A) FT T S T
3) (&) TF % 3R (R) Tom ¥
(4) (A) 3 (R) S T

[y
O

P.T.O.



43.

44.

45.

46.

Occurrence of natural hazards is affected by :

(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change

Choose the correct answer from the code given below :

(1) (@) (c) and (d) (2) (), (b) and ()

(3) (), (b) and (d) 4)  (b), (c) and (d)

4
Which of the following pollutant gases is not produced both naturallyf and as a result of
industrial activity ? ‘

(1) Chlorofluoro carbons (2) Nitrous oxide = ! 2
(3) Methane (4) Carbon dioxide 5 (
g\’
/ i
Among the following fuels of energy, which is the most environment friendly ?

| .'l
(1) Ethanol (2) Biogas e é!"l;? (4) Hydrogen

Which of the following are the goals-pf‘%higher educat.ior; in India ?
a) Access |
Y
b) Equity Vi
¢)  Quality and Excellence

{

(
(
(
(d) Relevance ; -
(e) Value based educatién
(

f) Compu}sg;ry and free education

. Select the correct,answer from the code given below :

(1) (a), (b) and (e) (I)'nly (2) (a), (b), (e) and (f)
(®) (@), (b), (c)/(d) and (e) 4) (@), (b), (), (d), (e) and ()
|
47. ich of the following has been ranked the best college in the country (2017) as per the
Natipnal Institutional Ranking Framework (NIRF) ?
(1) " Miranda House, Delhi (2) St. Stephen’s College, Delhi
(3) Fergusson College, Pune (4) Maharaja’s College, Mysore
oo [[INTANNOONAANE =



43.

44.

45.

46.

47.

Yrehfder amaerstl & sfed B o frefafad o g gear @ ¢

(a) ofF - ITAM § 9REda (b) < e AR fafo
(c) TSI | At GV EIRIIECTE

= fIT 7T e H F FE IW H T R

() (@) () ¥R (d) () (a), (b) 3R (o)

(3) () (b) W (d) @) (), () 3R (d)

L
frefafed § & HH-H ygus 9 hfas €9 § IR i nfafafy & aiurmesy 91 8@ Sa
& Bl 7 2

(1) FARTU e (2) L RS <

(@) (@) T gESEEE
y A
ferferfin st €orff & - $or ot 3 i W g ¥2
(1) (@ @ o) fﬁvﬁ @ g
Wﬁeﬁrﬁwéa&aﬁmﬁrﬁ@aﬁﬁﬁqﬁ%? ¢ -
(a) T < d‘;"
(b) = Vi
(c) T T FeRd "
(d) TR P
(e) WA A ﬁw‘T {
(f)  oTfomed wel g e
i ey 0 e S A O
(1) ¥ (a), <bf it (o 2 (@) O) () 3R (0
®) (@), (), (/(d) W () 4 @ ®) © @), () @

I
T WieefTeh FUehTor Sran (TH.37E. ST, ) o STER fFefafed # 9 5 <o H, g9 Hies
(2017) T T 9T 1 2

(1) farer eey, ot (2) U EHH Hiad, food
(3)  HE e, I (4) RIS e, Hg

wooo [[INNNMNNARIAN. =



48. Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Jawaharlal Nehru University (2) Banaras Hindu University
(3) Tezpur University (4)  University of Hyderabad

49. Who among the following can be removed by the President without Parliament’s
resolution ? {

(1) Judge of a High Court (2) Governor of a State ' f/ 1

(3) Chief Election Commissioner (4) Comptroller and Auditor ! General

4

r

50. Which of the following come(s) within the ambit of the term ‘gorruption’ ?

a
|

Misuse of official position / i »

(@)
(b) Deviation from rules, laws and norms / |
¥ | I
/
(c) Non-action when action is required f |
(

d) Harm to public good ‘ Jj

A

e — L4

Select the correct answer from the cq{ie given below f
%

(1) (a) only < { (2) (a) and (b) only

(3) (a) (b)and (d) iY@ @) ©and@

-00o0-

oo [ IRRRHMAURNIACARI
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48. fr=fafaa favafaememl & 9 fF9 ®E’t 2017 # w69< d=a favafaemem & fau g

(fafseX) =1 qTEhr 9w gafl ?

(1) SeTetere &% ot ) R fexg fovafemmem

() aSqY fovefarmem 4) TER fovafamme
49. Trfafed § 9 f5d Hug & Wed y&E & o1 Tgufd gR1 g2 S 9ehdl & 2 ¢ :

(1) T AT 1 =T (2) TSF I T . (s

(3) T IAE YK (4) fraa® SR wewrE Waw |
50. frefafed § & HF-91 ‘ yemR’ wes i aify § o ¥ 2 a1,

(a) FHRI UL 1 GETAN i \ N

oy B, R S G e / ;

(c) ST AT SATIH B A HRATE T HE Er'

(d) e Tla  THEE ‘ /‘

= feu T e ¥ | W SW A ¢ =

1) FI (@) ; ‘o e o

() (@), (b) 3R (d) i ?‘ C @ @) R

- i -00o0-
ﬁ :{
‘%
;f
|
\
y

~ooo [[IIHIMINIONANE = Piro.
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